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Name Date Class

Chapter 18, Section 3
For use with textbook pages 563-569

THE AGE OF NAPOLEON

KEY TERMS
consulate the French government under Napoleon before he was crowned emperor (page 564)

nationalism the unique cultural identity of a people based on common language, religion, and
national symbols {page 568)

DRAWING FROM EXPERIENCE

What do you think of when you hear the name “Napoleon”? Does a partic-
ular picture of Napoleon come to mind? What do you know about Napoleon?

In the last two sections, you read about the French Revolution and its
results. In this section, you will learn how Napoleon’s rise to power brought
an end to the French Revolution but also helped to preserve certain aspects of
the revolution.

ORGANIZING YOUR THOUGHTS

Use the chart below to help you take notes. Although Napoleon is best
known for his military achievements (and failures), he also had significant
domestic achievements (achievements within France). List three of Napoleon’s
achievements in France and three of his achievements outside of France.

Napoleon’s Achievements
In France Outside of France
1. 4,
2. 5
3 5.

294 Glencoe World History

ou] *suediar |iH-me100W A1 £q © wBudder



Copyright ® by The McGraw-Hill Companies, Inc,

Name Date Class

Reading Essentials and Study Guide

Chapter 18, Section 3 (continued)

READ TO LEARN

¢ The Rise of Napoleon (page 563)

Napoleon was born in 1769 on the island of Corsica. His family came from
Italy. As a young man, Napoleon received a scholarship to study at a military
school in France. In 1785, he was commissioned as a lieutenant in the French
army. He rose quickly through the ranks. By age 24, he was made a brigadier
general. In 1796, he became commander of the French armies in Italy, where
he won many victories. He was able to win the confidence of his men and the
support of many people because of his energy, charm, and intelligence. In
1797, he returned to France as a hero. He was given the command of an army
in training to invade Britain. He proposed that France strike indirectly at
Britain by taking Egypt and threatening India. However, because the British
controlled the seas, they were able to cut off Napoleon’s army in Egypt.
Napoleon abandoned his army and returned to Paris.

In Paris, Napoleon took part in the coup d’état that overthrew the govern-
ment of the Directory. A new government called the consulate was
proclaimed. As first consul, Napoleon controlled the entire government. He
appointed members of the bureaucracy, controlled the army, conducted for-
eign affairs, and influenced the legislature. In 1802, he was made consul for
life. Two years later, he had himself crowned Emperor Napoleon L

7. How did Napoleon win the support of the French people?

* Napoleon’s Domestic Policies (page 565)

One of Napoleon’s first acts at home was to establish peace with the oldest
enemy of the revolution, the Catholic Church. Napoleon himself had no per-
sonal religious faith, but he saw the need to restore stability to France. In 1801,
Napoleon made an agreement with the pope. The agreement recognized
Catholicism as the religion of a majority of the French people. In return, the
pope agreed not to ask for the return of the church lands seized in the revolu-
tion. This agreement was popular both with Catholics and with people who
had bought church lands during the revolution.

Napoleon’s most famous domestic achievement was his codification of the
laws. Before the revolution, France did not have a single set of laws but
almost 300 different legal systems, Napoleon completed seven codes of law.
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Chapter 18, Section 3 (continued)

The most important of the codes was the Civil Code {also called the
Napoleonic Code). This code preserved most of the gains of the revolution by
recognizing the principle of the equality of all citizens before the law, the right
of the individual to choose a profession, religious toleration, and the abolition
of serfdom and feudalism. Property rights were carefully protected. The rights
of women were curtailed, however. Divorce was still allowed, but it was diffi-
cult for women to get divorces. When women married, their property came
under the control of their husbands. In lawsuits, they were treated as minors.

Napoleon worked hard to develop a bureaucracy of capable officials.
Promotion was based on ability, not on rank or birth. This was a change that
the middle class had wanted before the revolution. Napoleon also created a
new aristocracy based on merit in the civil or military service. 3,263 new
nobles were created between 1808 and 1814. Only 22 percent of Napoleon’s
aristocracy came from the nobility of the old regime. Almost 60 percent were
middle class people.

Napoleon claimed that he preserved the gains of the revolution. In some
respects, this was true. The Civil Code preserved the equality of all citizens.
Opening government careers to more people was another gain. On the other
hand, Napoleon destroyed some revolutionary ideals. Liberty was replaced by
despotism. He also eliminated freedom of the press. He shut down 60 of
France’s 73 newspapers and required that all manuscripts be approved before
they were published. Even the mail was opened by government police.

8. In what ways did Napoleon preserve the gains of the revolution? In
what ways did he destroy those gains?

* Napoleon’s Empire (page 566)

When Napoleon became consul in 1799, France was at war with a European
coalition of Russia, Great Britain, and Austria. Napoleon achieved a peace
treaty in 1802, but it did not last long. War with Britain broke out again in
1803. Britain was eventually joined by Austria, Russia, Sweden, and Prussia.
In a series of battles, Napoleon’s army defeated the Austrian, Prussian, and
Russian armies.

From 1807 to 1812, Napoleon was the master of Europe. His Grand Empire
was composed of three parts: the French Empire, dependent states, and allied
states. The French Empire consisted of an enlarged France that extended to
the Rhine in the east and included the western half of Italy north of Rome.
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Chapter 18, Section 3 (continued)

Dependent states were kingdoms under the rule of Napoleon's relatives.
These included Spain, Holland, the kingdom of Italy, the Swiss Republic, the
Grand Duchy of Warsaw, and the Confederation of the Rhine (a union of all
German states except Austria and Prussia). Allied states were countries
defeated by Napoleon and forced to join his struggle against Britain. They
included Prussia, Austria, Russia, and Sweden. Within his empire, Napoleon
tried to spread some of the principles of the French Revolution, including
legal equality, religious toleration, and economic freedom. In many areas, the
nobility and clergy lost their special privileges.

9. What countries were included in Napoleon’s Grand Empire?

® The European Response (page 567)

Napoleon’s Grand Empire collapsed almost as quickly as it had been
formed. There were two main reasons for Napoleon's defeat: the survival of
Great Britain and the force of nationalism. Britain’s survival was due prima-
rily to its sea power. Napoleon hoped to invade Britain, but the British navy’s
defeat of a combined French-Spanish fleet at Trafalgar in 1805 destroyed any
idea of an invasion. Napoleon then turned to his Continental System to defeat
Britain. The goal of the Continental System was to prevent British goods from
reaching the European continent. Napoleon hoped to weaken the British econ-
omy by preventing the sale of British goods. But the Continental System
failed. Allied states resented being told that they could not trade with the
British, and some began to cheat. New markets in the Middle East and in
Latin America gave Britain other outlets for its goods. By 1809-1810, British
exports were at near-record highs.

The second important factor in the defeat of Napoleon was nationalism.
Nationalism is the unique cultural identity of a people based on common lan-
guage, religion, and national symbols. Napoleon’s spread of the principles of
the French Revolution beyond France indirectly brought a spread of national-
ism as well. The French aroused nationalism in two ways. First, they were
hated as oppressors. This hatred stirred the patriotism of other peoples in
opposition to the French. Second, the French showed the people of Europe
what nationalism was and what a nation in arms could do.
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Chapter 18, Section 3 (ontinved)

10. What were the two main factors that led to the defeat of Napoleon?

¢ The Fall of Napoleon (page 568)

The Russians refused to remain in the Continental System. This left
Napoleon with little choice but to invade Russia. In June 1812, a Grand Army
of over six hundred thousand men entered Russia. Napoleon's hopes for vic-
tory depended on a quick defeat of the Russian armies. But the Russian forces
refused to fight. They retreated for hundreds of miles. As they retreated, they
burned their own villages and countryside to keep Napoleon’s army from
finding food. When the Grand Army arrived in Moscow, they found it on fire.
Without food and supplies, Napoleon abandoned Moscow and began the
“Great Retreat” across Russia. Less than forty thousand of the original army
made it back to Poland. This military disaster led other European states to
attack the French army. Paris was captured in March 1814. Napoleon was sent
into exile on the island of Elba. The Bourbon monarchy was restored to
France. Louis XVIII became king. He was the brother of the executed king,
Louis XVI.

The new king had little support, and Napoleon was able to slip back into
France. When troops were sent to capture him, they went over to his side.
Napoleon entered Paris in triumph on March 20, 1815. Napoleon raised
another army and moved to attack the nearest allied forces in Belgium. At
Waterloo in Belgium on June 18, 1815, Napolecn met a combined British and
Prussian army under the Duke of Wellington. He was defeated and exiled to
St. Helena, a small island in the South Atlantic.

11. What were the consequences of Napoleon’s invasion of Russia?
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Chapter 19, Section 1
For use with textbook pages 581-588

THE INDUSTRIAL REVOLUTION

KEY TERMS
capital money available for investment (page 582)

entrepreneur a person who invests in a new business or businesses in order to make profits
(page 582)

cottage industry a production method in which individuals did the work in their rural homes
(page 582)

puddling a process developed by Henry Cort in the 1780s that produced high quality iron by
using coke to burn away impurities in crude iron {page 583)

industrial capitalism an economic system based on industrial production (page 586)

socialism a system in which society, usually in the form of the government, owns and controls
the means of production (page 588)

DRAWING FROM EXPERIENCE

Have you ever been to a history museum? Have you seen any early inven-
tions used in the textile industry, such as a flying shuttle, a spinning jenny, or
a cotton gin? What were these inventions like?

In this section, you will learn about the Industrial Revolution and the
impact that it had in Europe and North America.

ORGANIZING YOUR THOUGHTS

Use the diagram below to help you take notes. The Industrial Revolution
began in Great Britain. List five factors that help to explain why the Industrial
Revolution began there.

1.

- -\

3. > Industrial Revolution
in Great Britain

" //

5.
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Chapter 19, Section 1 (continued)

READ TO LEARN

® The Industrial Revolution in Great Britain (page 581)

The Industrial Revolution began in Great Britain in the 1780s. There were
several reasons why it started there. First, agricultural practices in the eigh-
teenth century had changed. More people could be fed at lower prices with
less labor. Now even ordinary British families had money to buy manufac-
tured goods. Second, with more abundant food supplies, the population grew.
This increase created a large labor force to work in the new factories in
Britain. Third, Britain had money to invest in the new industrial machines and
factories. This money is called capital. Many British people were very wealthy
and were interested in finding new business opportunities and new ways to
make profits. These people are called entrepreneurs. Fourth, natural resources,
such as coal and iron ore, were plentiful in Britain. Finally, Britain had a huge
empire that gave the British many markets for their goods.

One of the main industries in Great Britain was the production of inexpen-
sive cotton goods. There were two steps in the manufacture of cotton
cloth—spinning (making thread) and weaving (turning the thread into cloth).
Originally, the work was done by individuals in their rural homes. This pro-
duction method is known as cottage industry. Advances in technology made
cottage industry inefficient, however. The invention of the “flying shuttle”
made weaving faster. Weavers now needed more thread from spinners. In
1764 James Hargreaves had invented a spinning machine called the spinning
jenny, which made the spinning process faster. In fact, thread was being pro-
duced faster than weavers could use it. By 1787, Edmund Cartwright had
invented a water-powered loom that made it possible for the weaving of cloth
to catch up with the spinning of thread. It now became more efficient to do
the work in factories, which were located near streams and rivers. The cotton
industry became even more productive when the steam engine was improved
by a Scottish engineer, James Watt. Watt made changes that allowed the
engine to drive machinery. Steam power could now be used to spin and
weave cotton, Before long, cotton mills were found all over Britain. By 1840,
cotton cloth was Britain’s most valuable product. British cotton goods were
sold everywhere in the world and were produced mainly in factories.

The steam engine was crucial to Britain's Industrial Revolution. For fuel,
the engine depended on coal. The need for coal led to an increase in coal pro-
duction. The need for coal increased even more when Henry Cort developed a
process called puddling. In this process, coke (which was derived from coal)
was used to burn away impurities in crude iron. This produced a better qual-
ity of iron, The British iron industry boomed. The high-quality iron was used
to build new machines, especially new means of transportation.

Railroads were particularly important to the success of the Industrial
Revolution. In 1804, the first steam-powered locomotive ran on an industrial
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Chapter 19, Section 1 (continued)

rail-line in Britain. By 1850, there were over 6000 miles of railroad track across
the country. Building railroads created new jobs for farm laborers and peas-
ants. Less expensive transportation led to lower-priced goods, which created
larger markets. More sales meant more factories and more machinery.

Factories created a new labor system. Factory owners wanted to use their
new machines constantly. As a result, workers were forced to work in shifts to
keep the machines running all day. Factory owners created a system in which
employees became used to working set hours and doing the same work over
and over. Adult workers were fined or fired for being late or for other miscon-
duct. Child workers were often beaten.

6. How did factories create a new labor system?

¢ The Spread of Industrialization (page 584)

By the mid-nineteenth century, Great Britain had become the world’s first
and richest industrial nation. It produced one-half of the world’s coal and
manufactured goods. The Industrial Revolution spread to the rest of Europe at
different times and speeds. The first countries to be industrialized in continen-
tal Europe were Belgium, France, and the German states. In these places,
governments were very active in encouraging the development of industrial-
ization.

An Industrial Revolution also occurred in the new nation of the United
States. In 1800, six out of every seven American workers were farmers. By
1860, only 50 percent of American workers were farmers. Labor for the grow-
ing number of factories in the Northeast came mainly from the farm
population. Many of the workers in the new factories were women. In fact,
women and girls made up the majority of the workers in large textile factories.

The United States was a large country in the 1800s. A transportation system
to move goods across the nation was vital. Thousands of miles of roads and
canals were built to link east and west. Robert Fulton built the first paddle-
wheel steamboat in 1807. By 1860, there were a thousand steamboats on the
Mississippi River. The railroad was the most important part of the American
transportation system. By 1860, about 30,000 miles of railroad frack covered
the United States.
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Chapter 19, Section 1 (continued)

7. What countries were the first to be industrialized in continental Europe?
Why?

* Social Impact in Europe (page 585)

The Industrial Revolution drastically changed the social life of Europe and
the world. By 1850, the population of Europe had almost doubled to 266 mil-
lion. The key to this growth was a decline in death rates, wars, and diseases.
Because of an increase in the food supply, more people were better fed and
resistant to diseases. Famine disappeared from most of western Europe. Cities
and towns grew dramatically in the first half of the nineteenth century. The
growth was directly related to industrialization. People moved from the coun-
try to the cities to find work in factories. The rapid growth of cities led to
pitiful living conditions for many people, however.

With the Industrial Revolution came the rise of industrial capitalism, an eco-
nomic system based on industrial production. Industrial capitalism produced
a new middle-class group—the industrial middle class. The new industrial
middle class was made up of the people who built the factories, bought the
machines, and figured out where the markets were. Their qualities included
initiative, vision, ambition, and often, greed.

The Industrial Revolution also created an industrial working class.
Industrial workers had terrible working conditions. Work hours ranged from
12 to 16 hours a day, six days a week, with a half-hour for lunch and dinner.
The worst conditions were in the cotton mills. The mills were hot, dirty, dusty,
dangerous, and unhealthy. In Britain, women and children made up two-
thirds of the cotton industry’s workforce by 1830. However, the number of
children declined under the Factory Act of 1833, which set 9 as the minimum
age for employment. As the number of children declined, women took their
places. They were mostly unskilled labor and were paid half, or less than half,
of what men received. Excessive working hours for women were outlawed
in 1844.

The laws that limited the work hours of children and women gradually led
to a new pattern of work. In cottage industry, husband, wife, and children had
always worked together. Men were now expected to earn most of the family
income by working outside the home. Women took over daily care of the fam-
ily and performed low-paying jobs, such as laundry work, that could be done
in the home.
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Chapter 19, Section 1 (continued}

In the first half of the nineteenth century, the pitiful conditions created by
the Industrial Revolution gave rise to a movement known as socialism.
Socialism is a system in which society, usually through government, owns and
controls some means of production (natural resources, factories, etc.). Early
socialism was primarily the idea of intellectuals who believed in the equality
of all people and who wanted to replace competition with cooperation in
industry. Later socialists called these early socialists utopians because they
thought their ideas were impractical dreams. Robert Owen, a British cotton
manufacturer, was one utopian socialist. He believed that humans would
show their natural goodness if they lived in a cooperative environment. He
formed two communities, one at New Lanark in Scotland and one at New
Harmony, Indiana. The community at New Lanark flourished, but the one at
New Harmony failed.

8. In what ways did the Industrial Revolution change the social life of
Europe?
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